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QUESTION 1

Which of the following types of data sets contains a directory and members? 

A. Partitioned 

B. Sequential 

C. VSAM 

D. KSDS 

Correct Answer: A 

 

 

QUESTION 2

Which of the following is a valid function of the initiator? 

A. Avoid program conflicts 

B. Avoid data set conflicts 

C. Access TSO terminals 

D. Prioritize running jobs 

Correct Answer: B 

 

 

QUESTION 3

Which of the following z/OS components controls TSO, batch job and started task priority assignments? 

A. ASM 

B. RSM 

C. WLM 

D. VSM 

Correct Answer: C 

 

 

QUESTION 4



Which of the following describes TN3270? 

A. VTAM 3270 common storage for telnet 

B. SNA telnet standard for 3270 protocol 

C. Telnet standard for 3270 data stream 

D. TCP/IP standard RFC 3270 

Correct Answer: A 

 

 

QUESTION 5

Which of the following is true of Type 4 JDBC drivers? 

A. Fully written in java, can be ported to any platform that supports DBMS protocol. 

B. JDBC API calls platform and database specific code to access the database. 

C. JDBC default driver for z/OS 

D. Offers the best performance 

Correct Answer: A 

 

 

QUESTION 6

Which of the following describes the WebSphere Application Server (WAS) capability to detect application failures and
to restart when a failure occurs? 

A. ARM 

B. ASM 

C. RSM 

D. SRM 

Correct Answer: A 

 

 

QUESTION 7

Which of the following is a characteristic of Native TSO? 



A. It provides a full screen editor for updating datasets 

B. It provides a ready prompt to enter commands 

C. It provides a dataset list for editing data sets 

D. It provides a menu to enter commands 

Correct Answer: B 

 

 

QUESTION 8

Which of the following is a logical database structure made up of rows and columns? 

A. Table space 

B. Table 

C. Index 

D. DBMS 

Correct Answer: B 

 

 

QUESTION 9

Which of the following enables an organization to define individuals and groups with access privileges to z/OS? 

A. RACF 

B. APF 

C. JES 

D. SVC 

Correct Answer: A 

 

 

QUESTION 10

Which TSO command can be entered at the READY prompt to diagnose an error message? 

A. ? 

B. Help 



C. Assist 

D. Analyze 

Correct Answer: B 

 

 

QUESTION 11

Which of the following items directs the system to locate z/OS data sets? 

A. Storage Group 

B. Master Catalog 

C. DB2 Tables 

D. SDSF 

Correct Answer: B 

 

 

QUESTION 12

A system z architecture has two kinds of physical storage. There is central storage and auxiliary storage. Access to
central storage is _________. 

A. multi-synchronous 

B. asychronous 

C. synchronous 

D. duplexed 

Correct Answer: C 
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